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It does not seem that way to him — %5 pawn RY

OVERVIEW

The &1 concludes that PX1mw does not agree that we can derive MaXY1 P12°0
from 773714 Xy, Previously the X3 also stated that X disagrees with '
101 that 1van RS teaches us MaRo» 719°1 (rather XY maintains that 77v27
nRY> 1%H2). Our Moo explains the source of s'>X1Ww teaching.
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bR¥w is not according to 301 "7 and not according to %o ".*
5591 SNMWY 199 02 “nYapnT Y P
So it is necessary to assume that X relied on a tradition which
established his 7> from nn1 i %907 as the source for N1oxRYH PP

SUMMARY
SR had a tradition that we derive MaR5»n P192°m from N M 99507,

THINKING IT OVER

1. Mmoo questions that XMW is not in agreement with 1"1 and *".
Seemingly what is so difficult; he cannot derive max?»n P12°n from 1van X7
(like 1"7) because he maintains Pn% 77v27 and he cannot derive it from nnxnA
because 7°» ynwn X9; what is so difficult?!®

2. mooIn explained that XMW had a 772p that NOX?» P12°n is derived from
9%, Why then does the X3 ask (twice) 191 % p19°n that Hxmw should
derive M2aR?1 7172’1 from another source, when his 7193p taught him to derive
it from this source of 75nn?1'°

Poxmw derives MR P19°m from nav min oomnn.

2901 " derives N1IxSM P20 from 12N K.

3501 ' derives MaxYM P12°7 from 73 NAXA (NAR RO 737,737 R0 ANK).

* oxmw is creating a Tv% for M9 p12°n which is different from both 2°Xin; this is unusual. See “Thinking
itover’ # 1.

> See marginal note that Moo on 7 "7 X, explains that YXmw follows w"A. See (X7n2) 717 7.
% See “Thinking it over’ # 2.

7 See footnote # 4.

8 See amrm Pwh.

? See footnote # 6.

12 See "7 Mmoo
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